	Position
	Code
	Replacement
	Title
	Qty

	HR1
	4359953
	
	Ring W 53MM
	1

	HS2
	4558527
	
	Screw, M6 X 20MM, M6 X 20MM
	3

	HR1
	4359953
	
	Ring W 53MM
	1

	HS1
	4378449
	
	Screw, M6 X 25MM
	4

	HS1
	4378449
	
	Screw, M6 X 25MM
	4

	HS2
	4558527
	
	Screw, M6 X 20MM, M6 X 20MM
	3

	8A571
	4362513
	
	Laying, 69MM
	1

	8A520
	4646010
	LR005631
	Thermostat, pipeline
	1

	8A571
	4362513
	
	Laying, 69MM
	1

	8A520
	4646010
	LR005631
	Thermostat, pipeline
	1

	8A520
	LR005631
	
	Thermostat, pipeline
	1

	8A520
	LR005631
	
	Thermostat, pipeline
	1

	9L438
	4024557
	
	Thermostat Housing, Utilities W 54MM
	1

	9N499
	PEH500140
	
	Housing
	1

	9N499
	PEH500140
	
	Housing
	1

	9L438
	4024557
	
	Thermostat Housing, Utilities W 54MM
	1

	12A648
	4603183
	
	Temperature sensor. OHL. Liquid. Move.
	1

	12A648
	4603183
	
	Temperature sensor. OHL. Liquid. Move.
	1

	8255
	4413478
	
	Gasket, W 37MM
	2

	8255
	4413478
	
	Gasket, W 37MM
	2

	8575
	LR005765
	
	Thermostat
	1

	8575
	LR005765
	
	Thermostat
	1

	8575
	PCP500050
	LR005765
	Thermostat
	1

	8575
	4362512
	PCP500050
	Thermostat
	1

	8575
	PCP500050
	LR005765
	Thermostat
	1

	8592
	4624378
	
	Connection water outlet
	1

	8592
	4624378
	
	Connection water outlet
	1


